


CENTRIFUGAL PUMPS

3D SERIES

CONTENTS 60Hz

Rev. A
Page
- SPECIFICATIONS 200
SELECTION CHART 201
TYPE KEY 203
PERFORMANCE CURVE SPECIFICATIONS 204
PERFORMANCE CURVE 32-125 205
PERFORMANCE CURVE 32-160 206
PERFORMANCE CURVE 32-200 207
PERFORMANCE CURVE 40-125 208
PERFORMANCE CURVE 40-160 209
PERFORMANCE CURVE 40-200 210
PERFORMANCE CURVE 50-125 211
PERFORMANCE CURVE 50-160 212
PERFORMANCE CURVE 65-125 213
PERFORMANCE CURVE 65-160 214
PERFORMANCE CURVE 65-200 215
- CONSTRUCTIONS 300
SECTIONAL VIEW DRAWING 3D 300
SECTIONAL VIEW TABLE 3D 301
SECTIONAL VIEW DRAWING 3DS 32, 40, 50 302
SECTIONAL VIEW DRAWING 3DS 65 303
SECTIONAL VIEW TABLE 3DS 304
SECTIONAL VIEW DRAWING 3DP 305
SECTIONAL VIEW TABLE 3DP 306
MECHANICAL SEAL STANDARD, H AND E VERSION 307
MECHANICAL SEAL HS VERSION @22 308
MECHANICAL SEAL HS VERSION @30 309
MECHANICAL SEAL HW AND HSW VERSION 310
BEARINGS 3D 311
BEARINGS 3DS-3DP 312
COUPLING 3DS 313
FLEXIBLE COUPLING 3DP 314
FITTINGS AND GASKETS 315
- DIMENSIONS AND WEIGHT 400
PUMP DIMENSIONS 3D UP TO 11kW 400
PUMP DIMENSIONS 3D 15 kW AND ABOVE 401
PUMP DIMENSIONS 3DS 32 402
PUMP DIMENSIONS 3DS 32, 65 403
PUMP DIMENSIONS 3DS 40, 50, 65 404
PUMP DIMENSIONS 3DP 32, 40, 50, 65 405
PACKING DIMENSIONS 3D 407
PACKING DIMENSIONS 3DS 408
PACKING DIMENSIONS 3DP 409

100

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 D S E RI ES

CONTENTS 60Hz
Rev. A
- TECHNICAL DATA 500
3D MOTOR DATA 500
3DS-3DP MOTOR DATA 501
3D NOISE DATA 502
3DS-3DP NOISE DATA 503
101

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

SPECIFICATION 60Hz
Rev. A
PUMP
Type of liquid Clean water
- -5
Hgggfed Working [°C] +90 standard version
temperature +110 H, HS, HW, HSW version
+120 E version
Maximum working pressure [MPa] 1
Closed centrifugal type for 32, 40, 50 series
Impeller Reinforced laser welding for 40-200/116, 50-200/156
Construction Closed centrifugal three dimensional blades for 65 series
Shaft seal type Mechanical seal
Bearing Sealed ball bearing
Pipe Suction Flange DN 50, 65 acqording to EN 1092-2
Connection Flange DN 80 according to UNI 2236-67 (4 holes)
Discharge Flange DN 32, 40, 50, 65 according to EN 1092-2
Casing Cast iron EN-GJL-250-EN 1561
Impeller AISI 304 (32, 40, 50 se_rigs) ‘ .
Material AlSI 31.6 made by precision cas_tlng (65 series)
Shaft seal Ceramic/Carbon/NBR (see Optionals on pag. 307-310)
Shaft AISI 304 (wet extension)
Bracket Aluminium/Cast iron
Accessory Counterflange DN 32, 40, 50, 65, 80 (see pag. 315)
Applicable standard of test ISO 9906 - Annex A
MOTOR
3D | 3DS | 3DP
Type Electric - TEFC
Three Phase
No. of Poles 2
Rotation speed [min™] ~ 3500
Insulation Class F | F (class B fot temperature rise)
Protection degree (CEI EN 60034-5) IP 55
Power rating [kW] 2222
[HP] 3.0+30
Frequency [Hz] 60
220/380-460 +10% 265/460 +10%
up to 4.0 kW up to 4.0 kW
Voltage V] 300-460/66D £109% o0 £10%
(5.5 kW and above) (5.5 kW and above)
Over load protection Provided by the user
Casing material Aluminium
Motor support Cast iron - Alluminium
PG13.5
Dimensions of cable entry PG16 mggﬂ g Migﬂ g
PG21
IM B5
up to 2.2 kW
Flange mount (IEC motor) / (p 16 5.2 kW) IM B3
(3.0 kW and above)
200

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 D S E RI ES

SELECTION CHART 60Hz

Rev. A

U.S.g.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

I T T I T T [ I [ [ I I I
Imp.g.p.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

120
— 350
100
H -300 H
[m] 80 =T | oeg [ft]
AR i Ao S
60 L1 - L B~ — 200
9 o] B - ~
32-200/5 55 TR joL\U?; | = ~ T
. N ~76, 6 N 7,
40 1 s L7725 ‘4{\200// 5
205 N 1 05N - IoNNET
<160 TS i OO BN
— == I/li% T‘L‘G%Sé ,M/'o‘ ~ /60/ \ 100
30 ~1_ PR G NN N )
52\/‘25 > ) 7 ; NN
722 NS Y NEN
6 %, %\’/
3 Yo\ 75
2 X
;70\ J A \(,)w\‘ \/
/\%) \ | J/)\
15 AV, X %0
2\
<) — 40
%
10 \ &
9 — 30
} / —25
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000 4000 5000
Q [I/min]
T T T T T T T 11 1 | U T T T |
6 7 8 910 12 14 16 1820 25 30 40 50 60 70 100 150 200 3
Q [m</h]
201

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 D S E RI ES

SELECTION CHART 60Hz
Rev. A
3D SERIES 32 SIZE
I/min 0 100/ 150] 200 250/ 300 350| 400
Pump type KW HP L on 0 6 9 12 15 18 21 24
32-125/2.26 22| 3 327] 325 | 31.4 | 296 | 272 | 24.4 | 214 | 18
32-160/3.06 3| 4 42 415 | 40 | 384 | 359 | 32.8 | 293 | 25
32-160/4.06 4 | 55 535 53 | 51.5 | 495 | 47 | 445 | 415 | 38
32-200/5.56 55| 75 64 625 | 61.5 | 59 | 565 | 53.5 | 50 46
32-200/7.56 75 | 10 755] 74 | 725 | 705 | 685 | 65 | 615 | 58
3D SERIES 40 SIZE
I/min 0 200/ 300/ 400] 500/ 600 700| 833
Pump type KW HP om0 12 18 24 30 36 42 50
40-125/3.06 3 | 4 27] 267 | 25.5 | 236 | 211 | 183 | 148 | 95
40-125/4.06 4 | 55 37| 365 | 35.8 | 346 | 327 | 302 | 271 | 22.7
40-160/5.56 55| 75 445 435 | 42 | 398 | 372 | 346 | 318 | 275
40-160/7.56 75 | 10 56] 54 | 52.5 | 505 | 48 | 455 | 425 | 385
40-200/116 1| 15 66| 65 | 635 | 62 60 57 54 | 495
40-200/156 15 | 20 81 80 | 785 | 77 75 73 | 705 | 665
3D SERIES 50 SIZE
I/min 0 500/ 600 700| 800/ 1000 1200| 1433
P kW | HP
ump type mYh 0 30 36| 42| 48 60 72 86
50-125/5.56 55| 75 326] 318 | 31.2 | 302 | 289 | 256 | 217 | 168
50-125/7.56 75| 10 38| 371 | 36.5 | 356 | 343 | 31 | 272 | 22
50-160/116 11| 15 47| 465 | 455 | 445 | 43 | 39.8 | 355 | 29.4
50-160/156 15 | 20 56| 56 | 55.5 | 545 | 535 | 50.5 | 465 | 405
3D SERIES 65 SIZE
Pumo ¢ v | yp |vmin 0| 00| 700 00| 1200 1500 1600 1800| 2000 2100| 2200
ump type m¥h 0 36 42 54 72 ) 96|  108] 120 126] 132
65-125/5.56 55| 75 255| 255 | 24.9 | 233 | 202 | 164 | 151 | 124 | 95 - .
65-125/7.56 75| 10 32| 313 | 30.8 | 292 | 26.4 | 22.8 | 215 | 187 | 154 | 137
65-160/9.26 92 | 125 366 - 351 | 333 | 301 | 26.6 | 254 | 224 | 19 17 :
65-160/116 1| 15 al - 40 | 383 | 356 | 321 | 308 | 282 | 253 | 235 | 215
65-160/156 15 | 20 485 - 48 | 465 | 44 | 405 | 392 | 365 | 33.7 | 322 | 305
65-200/156 5 | 20 555 - 53 51 47 42 | 399 | 356 | 307 | 28 -
65-200/18.56 185| 25 625 - 60.5 | 585 | 55 | 50.5 | 485 | 445 | 399 | 374 | 35
65-000/226 22 | 30 695 - 675 | 66 | 625 | 585 | 565 | 53 49 47 | 445

202

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 D S E RI ES

TYPE KEY AND CURVE SPECIFICATIONS 60Hz

Rev. A

TYPE KEY

[a0] s |[ H][es]]2m][22] 6 |

60 Hz MODEL

22 |[HP3

3 [HP4

4 |HP55
55 |HP7.5
POWER CODE [kW] 75 |HP10
92 |[HP 125
11 [HP 15
15 |HP 20
18.5 [HP 25
22 |HP 30

125
160
200

IMPELLER CODE

32
DISCHARGE SIZE 40
50
65

HS
HW
HSW

OPTIONS MECHANICAL SEAL

End suction Close
S |End suction Close Coupled
P |End suction Own Bearings

MODEL TYPE

3D SERIES

203

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 D S E RI ES

PERFORMANCE CURVE 60Hz

Rev. A

PERFORMANCE CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906 Annex A

The curves refer to effective speed of asynchronous motors at 60 Hz

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm?%s (1 cSt)

The NPSH curve is an average curve obtained in the same conditions of performance curves.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best
efficiency point.

Symbols explanation:

Q = volume flow rate
H = total head
P, = pump power input (shaft power)
n = pump efficiency
NPSH = net positive suction head required by the pump

204

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 D S E RI ES

PERFORMANCE CURVE 60Hz

Rev. A

32-125/2.26 (2.2kW) — impeller diameter = 133 mm

0 USgpm. 20 30 40 50 60 70 8 90 100 110 120 130
| ] ] ] ] ] | ] ] ] ] ] | ]
[ [ [ [ [ [ [ [ [ [ [ 1
100G, 20 30 40 50 60 70 80 90 100 110
120
H H
[m] I (]
—
30 T~ ; 100
-~~\£§k2é3
\\\
\\\ - 80
20 S
60
NPSH
L 40
0 [m] [ft]
NPSH 4 K
///
— 3410 20
2
5
1
0 0
0 100 200 300 400 Q [1/min]
[ I I I I I I I I I I I I I I ]
o 2 4 6 8 10 12 14 16 18 20 22 24 2 28 Q[m¥h]
3
0, .
K 125/2.26
—
1
0
0 100 200 300 400 Q [1/min]
70
: ———
[
60 = 125/2.26
(%]
50 -
/’/
40
30
0 100 200 300 400 Q [I/min]

Rotation speed = 3480 min
Test standard: ISO 9906 — Annex A

205

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 D S E RI ES

PERFORMANCE CURVE 60Hz

Rev. A

32-160/3.06 (3.0kW) — impeller diameter = 151 mm
32-160/4.06 (4.0kW) — impeller diameter = 166 mm

0 USgpm. 20 30 40 50 60 70 80 9 100 10 120 130
| | | | | | | | | | | | | |
[ I l I I I l I I l | |
5o 0 ImPgpm. 20 30 40 50 60 70 80 90 100 110
H T “+— 10 H
—
~— ft
[m] 50 3%06 160 M
\\
‘\
I —140
40 I e et T~
—~ 7 —
\\
30 —100
N
— 80
NPSH
20
[m] [t]}-60
620
5140
10 NPSH — 4
" | 10
| ,d
5
0 0
0 100 200 300 400 Q [1/min]
[ T I I I I I I I I l l l l l 1
o 2 4 6 8 10 12 14 16 18 2 2 24 2 28 Q[m¥n]
6
1]
P2 . 160/4.06
kW T T T
L] - 160//3.06
m—
2
0
0 100 200 300 400 Q [1/min]
70 ] T
L ] —160/4.06
[%] T ™~160,/4306
50 =
40 -
30
0 100 200 300 400 Q [1/min]

Rotation speed = 3480 min
Test standard: ISO 9906 — Annex A

206

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

PERFORMANCE CURVE 60Hz
Rev. A
32-200/5.56 (5.5kW) — impeller diameter = 186 mm
32-200/7.56 (7.5 kW) — impeller diameter = 200 mm
0 USgpm. 20 30 40 50 60 70 80 90 100 10 120 130
| ] ] ] ] ] ] ] ] ] ] ] ] ]
I I I | I | I | I I | ]
" 0 Imp.g.p.m. 20 30 40 50 60 70 80 90 100 110
[m] ~<2.5 [ft]
— [~
e ~
—
\\
I
50 S~
gy 160
40
—120
NPSH
30 [m] [#t]
62
580
NPSH — 4
20 —— 10
275
40
10
0 100 200 300 400 Q [I/min]
[ I I I I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[mh]
8 T T T
P2 & 200/7.56
W, - 200/5.56
2
0
0 100 200 300 400 Q [I/min]
70
N 60
[%] 50 "
—
40
200/5.56 =
30 200/7.56 <=
20 | | |
0 100 200 300 400 Q [I/min]
Rotation speed = 3480 min”
Test standard: ISO 9906 — Annex A
207

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 D S E RI ES

PERFORMANCE CURVE 60Hz

Rev. A

40-125/3.06 (3.0 kW) — impeller diameter = 125 mm
40-125/4.06 (4.0 kW) — impeller diameter = 140 mm

0 US.g.pm. 50 100 150 200 250
| | | | | |
[ [ [ [ [
0 Imp.g.p.m. 50 100 150 200
> mPgPm
. I S A L 120
~ ft
[m] \é £6 [ft]
30 ™~ —100
\\\
I e R e ~— \\
—~ N - 80
\35/3 \l
06
20 ™~
~ 60
\\
\\\
A - 40
N
10 N NPSH
[m] [ft]
6——20 - 20
NPSH — T od-15
—1 10
24 5
0 0
0 200 400 600 800 Q [I/min]
[ [ [ [ [ [ |
0 10 20 30 40 50 Q [m3/h]
6
P2 1 / 1
4 125/4.06 —
KW —
[k} — — e
2 125,/3.06——
. T
0 200 400 600 800 Q [I/min]
80 —
o — (77808
60 7 L
125,/3.06
50 =
40
0 200 400 600 800 Q [1/min]

Rotation speed = 3480 min”
Test standard: ISO 9906 — Annex A

208

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

PERFORMANCE CURVE 60Hz
Rev. A
40-160/5.56 (5.5 kW) — impeller diameter = 151 mm
40-160/7.56 (7.5 kW) — impeller diameter = 166 mm
0 USgp.m 50 100 150 250
| ] ] ] ]
[ [ [ [ [
0 Imp.g.p.m. 50 100 150 200
60 mP-gPm
I _ 180
[m] 60, [f]
L5 160
= — \\\
__\*’\\\ i Y L 140
40 =760, =~
\‘5'56 \'
. 120
\\ 100
~ B
™~
- 80
20
- 60
NPSH | 40
[m] [ft]
NPSH T ‘Ef? 2
10
245
0 0
0 200 400 600 800 Q [I/min]
[ [ [ I [ [ 1
0 10 20 30 40 50 Q [m3/h]
8
Py ¢ 160,/7.56
et 160/5.56
], — /
) L —
0
0 200 400 600 800 Q [I/min]
80
. __160/5.56 |
" — — | 160,/7.56 ]
50 /‘/
40
0 200 400 600 800 Q [I/min]
Rotation speed = 3480 min”
Test standard: ISO 9906 — Annex A
209

EBARA PUMPS EUROPE S.p.A.



3D SERIES

CENTRIFUGAL PUMPS

PERFORMANCE CURVE 60Hz
Rev. A
40-200/116 (11 kW) — impeller diameter = 183 mm
40-200/156 (15 kW) — impeller diameter = 200 mm
0 US.g.pm 50 100 150 200 250
| ] ] ] ] ]
[ [ [ [ [
0 Imp.gp. 50 100 150 200
gp_mP-gPm
H F—r—=T 20 H
[m] =% 250 [1]
‘\
R S ™~
60 \\\% - 200
\\
\\
\\l
B
150
30 100
NPSH
[m] [ft]
620 50
—T
NPSH———fee—| S
5
0 0
0 200 400 600 800 Q [I/min]
cl) 1'0 2'0 3'0 4'0 5|o Q [n: 3/h]
" 1 1200/156
PZ [, |
[kw] 1O T 200/116
6 — I e .
2
0 200 400 600 800 Q [1/min]
80
M 70 —
L) —
w0 200/116 <1~
200,/156
30
0 200 400 600 800 Q [1/min]
Rotation speed = 3480 min”
Test standard: ISO 9906 — Annex A
210

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 D S E RI ES

PERFORMANCE CURVE 60Hz

Rev. A

50-125/5.56 (5.5 kW) — impeller diameter = 131 mm
50-125/7.56 (7.5 kW) — impeller diameter = 140 mm

0 US.g.pm. 100 200 300 400 500
| ] ] ] ] ]
| | | | |
0 Imp.g.p.m. 100 200 300 400
40
' I — 10
[m] IS [1t]
e \\ /2\5/
30 = % 100
\\
NN \\
%) NG -
N5 80
\\55 \\
20 \\ \\
N N - 60
NPSH
[m] [ft]
N
N 1 L
. 8 s 40
T 620
NPSH —
20
15
— 7
10
0 0
0 500 1000 1500 Q [I/min]
[ I I I I I 1
0 20 40 60 80 100 Q [m3/h]
8 | E—
P, — 125/7.56
6 1 L
[kw] //, T T
\ — —— 125//5.56
2
0 500 1000 1500 Q [I/min]
80
n p—
(%] 70 — s
// ™~ 125/7.56
N [
125/5.56
50 1 /
0 500 1000 1500 Q [I/min]

Rotation speed = 3480 min
Test standard: ISO 9906 — Annex A

211

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 D S E RI ES

PERFORMANCE CURVE 60Hz

Rev. A

50-160/11.6 (11 kW) — impeller diameter = 154 mm
50-160/156 (15 kW) — impeller diameter = 166 mm

0 USgpm. 100 200 300 400 500
| ] ] ] ] ]
[ [ [ [ [
0 Imp.g.p.m. 100 200 300 400
60
T T T T 180
H ~~~_"60 H
[m] \/15{ [
N ~_ 160
I B e ™\
~76 RN 140
40 \(2//;6 N
~
N 120
N
100
- 80
NPSH
20
[m] ]
813
-~ 40
NPSH — 62
—| 15 20
— 4
10
0 0
0 500 1000 1500 Q [1/min]
[ [ [ [ [ [ 1
0 20 40 60 80 100 Q [m3/h]
14
—— 160,156
P2 I 1 I
[kw) '° — 160/116
m—"
6
2
0 500 1000 1500 Q [1/min]
80
N L —~
[%] 70 —
e —T
60 160/11647]
160,156
50 | |
0 500 1000 1500 Q [I/min]

Rotation speed = 3480 min”
Test standard: ISO 9906 — Annex A

212

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3D

SERIES

PERFORMANCE CURVE 60Hz
Rev. A
65-125/5.56 (5.5 kW) — impeller diameter = 121 mm
65-125/7.56 (7.5 kW) — impeller diameter = 132 mm
0 USgpm. 100 200 300 400 500 600
| | | | | | |
10 (I) Imp.g.p.m. 1(I)0 2(I)0 3(I)0 4(I)0 5(I)0
120
H
[m] [ft]
“ T —— 100
N
~ /. 5 J
- = 95
- 80
L NG
T~ N
20
% \\\ oo
N Ny
N NG
N NPSH |,
N [m] [ft]
10
30
8
NPSH - : D20
10
2
0 0
0 500 1000 1500 2000 Q [I/min]
cl) 2'0 4'0 slo 8|0 1(')0 12'0 110 Q [m3h]
8 :
0, . 125/7.56
| ! !
k] ° - ——
T 125,/5.56
4
2
0 500 1000 1500 2000 Q [I/min]
80
n
[%] 70 ——
60 ~ 125/7.56
> \\ N ‘/
5 125/5.56
0 500 1000 1500 2000 Q [I/min]
Rotation speed = 3480 min”
Test standard: ISO 9906 — Annex A
213

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 D S E RI ES

PERFORMANCE CURVE 60Hz

Rev. A

65-160/9.26 (9.2 kW) — impeller diameter = 139 mm
65-160/116 (11 kW) — impeller diameter = 146 mm
65-160/156 (15 kW) — impeller diameter = 157 mm

0 USgpm. 100 200 300 400 500 600
| | | | | | |
[ [ [ [ [ [
" 0 Imp.g.p.m. 100 200 300 400 500
H H
[m] e e e [ft]
] R
\\\ 760/756 150
- ———— N
40 e
~ [ —~
e T~ 760 7‘7 \\
~ I )
\\ 76'0/926\ \\\‘\ N oo
S
\\\ \\\
N
20 N \1 NPSH
TN [m] [
62050
L~~~ |
NPSH — "
10
215
0 0
0 500 1000 1500 2000 Q [I/min]
[ [ [ [ [ [ [ [
0 20 40 60 80 100 120 140 Q [m3/h]
16
T T ]
P2 — 160,156 —
[kw) "2 —
| ”'—_
8 160/16 <= 160,/9.26
4
0 500 1000 1500 2000 Q [I/min]
0
n
[%] 80
[
== =~<160/156 —|
70 > \\\ | \/
160|/116 //( N , |
160/9.26
60 ,
0 500 1000 1500 2000 Q [I/min]

Rotation speed = 3480 min”
Test standard: ISO 9906 — Annex A

214

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 D S E RI ES

PERFORMANCE CURVE 60Hz

Rev. A

65-200/156 (15 kW) — impeller diameter = 165 mm
65-200/18.56 (18.5 kW) — impeller diameter = 175 mm
65-200/226 (22 kW) — impeller diameter = 184 mm

0 USgpm. 100 200 300 400 500 600
| | | | | | |
[ [ [ [ [ [
" 0 Imp.g.p.m. 100 200 300 400 500
L 250
AT S N O S H
[m] T (ft]
I 200226
60 B — 2 : 200
| \ﬂ/ 185, ™
\§~\"\\ N
200/ I~ N
156 \\ N
~—_ ~ —_ N 150
40
\\
N
N 100
N NPSH
[m] [#]
20 8-
— 6 2050
NPSH " o
10
275
0 0
0 500 1000 1500 2000 Q [1/min]
[ [ [ [ [ [ [ [
0 20 40 60 80 100 120 140 Q [m3/h]
24 T T T
B, p———— 200/226
[kw] '8 T |
200,/18.56 e ‘
12 | / i —— 200/156
6
0 500 1000 1500 2000 Q [I/min]
80 —
o — [ T200/226
. = RN
v N
60
200/18.56 200/156
|
50 ,
0 500 1000 1500 2000 Q [1/min]

Rotation speed = 3480 min”
Test standard: ISO 9906 — Annex A

215

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 D S E RI ES

CONSTRUCTION 60Hz
Rev. A
3D SECTIONAL VIEW DRAWING
UP TO 11 kW
1 75 24 4 26 72 56 16 17 58 6 12 21
)
1M 3 20018 92 19 22 42 20 13
42
300

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

CONSTRUCTION

60Hz

3D SECTIONAL VIEW TABLE

Rev. A

Ne PART NAME MATERIAL DIMENSIONS STANDARD  |Q.TY
001 | Casing Cast iron EN-GJL-250-EN 1561 1
003 | Motor bracket [1] 1
004 | Casing cover EN 1.4301 (AISI 304) 1
006 | Shaft with rotor - Wet extension EN 1.4301 (AISI 304) 1
007 | Impeller [2] 1
011 | Mechanical seal [3] [3] 1
012 | Motor frame with stator - 1
013 | Motor cover Aluminium 1
014| Fan PA 1
015 | Fan cover Fe P04 Galvanized 1
016 | Terminal - 1
017 | Terminal box cover Aluminium (three phase version) 1
1 Upto11kW 40x21.5x2
018 | Splash rmg| 15 KW and above NBR 50X29.5:3 EBARA DRAWING| 1
019 | Bearing [4] 1
020 | Bearing - [4] 1
021 | Adjusting ring Steel C70 1
Up to 3 kW M5
022 Tie rod For4-55-75kW Fe 42 Galvanized M6 EBARA DRAWING 4
9.2 e 11kW M8
Screw 15 kW and above Guv. Steel 8.8 strenght class I1SO 898-1 M10x40 UNI 5739
24 Priming plug Brass G 3/8" L=8 1
25 Draing plug Brass G 3/8" L=8 1
32-125, 40-125 158.11x5.34 OR 6625
026 | "0 ring 32-160, 40-160, 50-125, 65-125 NBR (5] 183.52x5.34 OR 6720 1
82-200, 40-200,50-160, 227.96x5.34 OR 6895
50-200, 65-160, 65-200
Up to 11 kW
032 | Key 5(’)3-200/156 EN 1.4401 (AISI 316) A 6x6x25 UNI 6604 1
15 kW and above A 8x7x30
Up to 11kW M16x1.5
034 | Impeller nutf 50-200/156 EN 1.4301 (AISI 304) M18x1.5 UNI 7474 1
15 KW and above M20x1.5
042 | Foot Aluminium / Galvanized steel EBARA DRAWING| [6]
056 | Box gasket NBR 1
058 | Cable gland - [7]
072 | Casing ring [8] EN 1.4301 (AISI 304) 1
e Aumnum 22¢17x15 |EBARA DRAWING [——
Up to 3kW 25x40x7
092 | Lip seal From 4 to 7.5 kW 30x47X7 DIN 3760 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
Up to 4 kW 25x40x7
093 | Lip seal From 5.5 kW to 7.5 kW 30x47X7 .DIN 3769 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
101 Snap ring [9] Carbon tool steels TC 80 40 UNI 7435 1
32-125
40-125 M 8x30 8
32-160
40-160 10
200 | Screw 50-125 Guv. Steel 8.8 strenght class ISO 898-1 UNI 5739
65-125 M 10x35
32-200, 40-200
50-160, 50-200 12
65-160, 65-200
32-125
40-125 8.4x17 8
32-160
40-160 10
235 [ Washer 50-125 Galvanized Steel UNI 6592
65-125 10.5x21
32-200, 40-200
50-160, 50-200 12
65-160, 65-200
206 | Screw for bracket [10] Gv. Steel 8.8 strenght class ISO 898-1 M 10x40 UNI 5739 4
Counterflange kit on request see p. 315
[1] Castiron EN-GJL-200-EN 1561 for 3D 40-125/4.6, [6] O for 65-160/15 kW;
40-160/7.56, 65-125/5.56; 65-125/7.56 1 for pumps up to 11 kW
Aluminum AL-EN-1706-AC-46000-D for all the others; 2 for 65-200/15, 18.5, 22 kW
[2] EN 1.4301 (AISI 304) for 32, 40, 50 series; [71 1 for pumps with motor up to 11 kW
EN 1.4401 (AISI 316) for 65 series 2 for pumps with 15 kW motor and above
[3] For special version and dimensions see pag. 307+310 [8] Only for: 32-200, 40-200, 50-160
[4] See pag. 311 [91 Only for pumps with 9.2 and 11 kW motor
[5] FPM for H, HS, HW, HSW version; [10] Only for pumps with 15 kW motor and above

EPDM for E version

301

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 D S E RI ES

CONSTRUCTION 60Hz

Rev. A

3DS 32, 40, 50 SECTIONAL VIEW DRAWING
717524 4 2611 3 44 6206 38

i TS O

0n0g — LI LI

34

32 | —
25 ; [

I
76 | /

200 201 12

N
h=
[

I
!
I
I
[11

302

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 D S E RI ES

CONSTRUCTION 60Hz

Rev. A

3DS 65 SECTIONAL VIEW DRAWING

3A [T— D\

- Lj ] Ey’/é %

@ annnnan |

206—2
—
[ []
|
x oy
L
rrn
| 0000000000007
nnpnanannnnnn
_ H.CE_ U | B I IS S e O |
‘ guuuuuuuuuuuuy
0000000000001
ﬁ\: o ‘ Jasan)
‘ | | il il
_______ B 23 E—— g g § S

j[
s
]
=
—

303

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3D SERIES

CONSTRUCTION

60Hz

3DS SECTIONAL VIEW TABLE

N° PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
001 Casing Cast iron EN-GJL-200-EN 1561 1
003 Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A| Adapter ring [1 Cast iron EN-GJL-200-EN 1561 1
004 | Casing cover EN 1.4301 (AISI 304) 1
006 Coupling - Wet extensions EN 1.4301 (AISI 304) [2] 1
007 Impeller [3] 1
011 Mechanical seal [4] [4] 1
012 | Motor - 1
024 | Priming plug Brass G 3/8" L=8 1
025 Draing plug Brass G 3/8" L=8 1
32-125, 40-125 158.11x5.34 OR 6625
026 | "O"ring 221238 18»233,5500-116205, 65-125 NBR [5] 183.52x5.34 OR 6720 1
507200: 65—160: 65—206 227.96x5.34 OR 6895
Upto 11 kW
6x6x25
032 Key 50-200/156 EN 1.4401 (AISI 316) UNI 6604 1
15 kW and above 8x7x30
Up to 11kW M16x1.5
034 Impeller nut 50-200/156 EN 1.4301 (AISI 304) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
042 Foot Galvanized Steel [6]
044 | Protection EN 1.4301 (AISI 304) EBARA DRAWING| 1
058 | Cable gland -
072 | Casing ring [7] EN 1.4301 (AISI 304) 1
8;2 wzz:z: 2:32::32 22x17x1.5  |EBARA DRAWING +
32-125
40-125 M8x30 8
32-160
40-160 10
200 | Screw 50-125 Guv. Steel 8.8 strenght class ISO 898-1 UNI 5739
65-125 M10x35
32-200, 40-200 |
50-160, 50-200 12
65-160, 65-200
201 Screw [8]] Gv. Steel 8.8 strenght class ISO 898-1 M10x16 UNI 5739 2
206 | Screw for bracket Guv. Steel 8.8 strenght class ISO 898-1 M10x40 UNI 5739 4
206-2| Screw adapter ring [1] Guv. Steel 8.8 strenght class ISO 898-1 M12x20 UNI 5931 4
32-125
40-125 8.4x17 i
32-160
40-160 ) 10
235 | Washer 50-125 Galvanized Steel UNI 6592
65-125 10.5x21
32-200, 40-200 |
50-160, 50-200 12
65-160, 65-200

Counterflange kit on request see p. 315

0]
[2]
3]

[4]
5]

Only for 65-125/5.56 and 65-125/7.56

See pag. 313

EN 1.4301 (AISI 304) for 32, 40, 50 series;
EN 1.4401 (AISI 316) for 65 series

See pag. 307+301

FPM for H, HS, HW, HSW version;
EPDM for E version

[6] O for version 65-200/226

1 for version for 32, 40, 50, 65-125/5.56, 65-125/7.56, 65-

160/116, 65-160/156, 65-200/156, 65-200/18.56
2 for version for 65-125/4, 65-160/7.5, 65-160/9.2

[71 Only for: 32-200, 40-200, 50-160

[8] Only for version 32-125/1.16, 32-160/1.56, 32-160/2.26,
40-125/1.56, 40-125/2.26, 50-125/2.26

Rev. A

304

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 D S E RI ES

CONSTRUCTION 60Hz

Rev. A

3DP SECTIONAL VIEW DRAWING

/

50

© L
lo \\\@
=

42A

33

67 93

42

244

305

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 D S E RI ES

CONSTRUCTION 60Hz

Rev. A
3DP SECTIONAL VIEW TABLE
Ne PART NAME MATERIAL DIMENSIONS STANDARD QTY
001 Casing Cast iron EN-GJL-200-EN 1561 1
003 | Support Cast iron EN-GJL-200-EN 1561 1
004 | Casing cover EN 1.4301 (AISI 304) 1
006 | Shaft - Wet extension EN 1.4301 (AISI 304) 1
006A | Flexible coupling Cast iron EN-GJL-250-EN 1561 [1] 1
007 | Impeller [2] 1
011 Mechanical seal [3] [3] 1
012 | Motor - 1
019 | Bearing - [4] 1
020 | Bearing - [4] 1
024 | Priming plug Brass G 3/8" L=8 DIN 906 1
025 | Draing plug Brass G 3/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
026 | "0 ring 32-160, 40-160, 50-125, 65-125 NBR [5] 183.52x5.34 OR 6720 1
32-200, 40-200, 50-160,
50-200. 65-160, 65-200 227.96x5.34 OR 6895
Up to 11 kW
032 | Key 5(?—200/156 EN 1.4401 (AISI 316) 6x6x25 UNI 6604 1
15 kW and above 8x7x30
033 | Key C 40 8x7x40 UNI 6604 1
Up to 11kW M16x1.5
034 | Impeller nut 50-200/156 EN 1.4301 (AISI 304) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
042 | Pump support Fe 37 Galvanized EBARA DRAWING| 1
042A | Base Fe 37 Galvanized 1
044 | Protection Fe 37 Galvanized 1
050 | Foot Aluminium / Galvanized steel 1
058 | Cable gland - 1
066 | Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 | Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
072 | Casing ring [6] EN 1.4301 (AISI 304) 1
075 | Washer Aluminum 22x17x1.5 EBARA DRAWING| 1
076 | Washer Aluminum 22x17x1.5 EBARA DRAWING| 1
092 [ "V"ring - VS - 0030 1
093 | "V"ring - VS - 0030 1
32-125
40125 M 8x30 8
32-160
40-160 10
200 | Screw 50-125 Guv. Steel 8.8 strenght class ISO 898-1 UNI 5739
65-125 M 10x35
32-200, 40-200
50-160, 50-200 12
65-160, 65-200
32-125
40-125 8.4x17 8
32-160
40-160 10
235 | Washer 50-125 Galvanized Steel UNI 6592
65-125 10.5x21
32-200, 40-200
50-160, 50-200 12
65-160, 65-200
Counterflange kit on request see p. 315
[1] See pag. 314 [4] See pag. 312
[2] EN 1.4301 (AISI 304) for 32, 40, 50 series; [5] FPM for H, HS, HW, HSW version;
EN 1.4401 (AISI 316) for 65 series EPDM for E version
[3] See pag. 307+310 [6] Only for: 32-200, 40-200, 50-160
306

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

CONSTRUCTION

60Hz

MECHANICAL SEAL (standard, H, and E version)

L2

#d3

#d1

?d2

ND,

#d4

8d5

Version

Pumpp type

di

d2

Dimensions [ mm ]

d3

d4

d5

L

L1

L2

1
Stationary
seal ring

Material

2
Rotary
seal ring

3
Rubber

4
Frame +
Spring

Standard

32-125/160/200
40-125/160/200
50-125/160
65-125
65-160/9.26
65-160/116
65.160/156
65-200

22

19

38

31

37

37.5

27.5

30

24

46

39

45

42.5

32,5

Carbon

Ceramic

NBR

EN 1.4401
(AISI 316)

32-125/160/200
40-125/160/200
50-125/160
65-125
65-160/9.26
65-160/116
65-160/156
65-200

22

19

38

31

37

37.5

27.5

30

24

46

39

45

42.5

325

Carbon

Ceramic

FPM

EN 1.4401
(AIS| 316)

32-125/160/200
40-125/160/200
50-125/160
65-125
65-160/9.26
65-160/116
65-160/156
65-200

22

19

38

31

37

375

27.5

30

24

46

39

45

42.5

325

Carbon

Ceramic

EPDM

EN 1.4401
(AISI 316)

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3D SERIES

CONSTRUCTION 60Hz
Rev. A
MECHANICAL SEAL (HS version 922)
5 4 2 3
TRTTTA A
IR
R
A
N ™~
™ - - - )
= ASS
!
!
B 28.5 9
B 37.5 o
Material
Pump type 1 2 3 4
Statlor]ary Rota_ry Rubber Frame
seal ring | seal ring + spring
32-125/160/200
40-125/160/200
50-125/160 . . EN 1.4571
65-125 SIC SiC FPM 1 (aIsi 316Ti)
65-160/9.26
65-160/116
308

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 D S E RI ES

CONSTRUCTION 60Hz

Rev. A

MECHANICAL SEAL (HS version 230)

42.5
31 1.5
-
h Q nﬁﬁﬁ\
1 /T
d |
. 4 3 2 1 3 1
2y i ’* —+ 3 g
|
000 g o ZN 1

Material
Pump type ! 2 3 4
Stat|oqary Rota.ry Rubber Frame
seal ring | seal ring + spring
65-160/156 . . EN 1.4571
65-200 SiC SiC FPM 1 alsi 316Ti)

309

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

CONSTRUCTION 60Hz
Rev. A
MECHANICAL SEAL (HW and HSW version)
L1 L2
) % _
; Q 12NN |
- % 43 2 1 3 4 a
. |
T %@}W
Dimensions [ mm ] Material
Version Pump type 1 2 3 4
dl | d2 | d3 | d4 | d5 | L | L1 | L2 | Stationary | Rotary Frame
. . Rubber :
seal ring | seal ring + spring
32-125/160/200
40-125/160/200
50-125/160
HW 65-125 22| 1938 31 37 /37.5/27.5 10 Tungsten | Tungsten FPM EN 1.4401
65-160/9.26 Carbide Carbide (AISI 316)
65-160/116
65-160/156
65-200 30 | 24 | 46 | 39 | 45 |425/32.5| 10
32-125/160/200
40-125/160/200
50-125/160
Hsw 65-125 22 | 19 | 38 | 31 | 37 |37.5/27.5| 10 Tungsten . .y EN 1.4401
65-160/9.26 Carbide ! (AISI 316)
65-160/116
65-160/156
65-200 30 | 24 | 46 | 39 | 45 425|325 10
310

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

CONSTRUCTION 60Hz
Rev. A
3D BEARINGS
Ball Bearing
Pump type Pump side Fan side
3D 32-125/2.26
3D 32-160/3.06 6205-2RSH | 505 0RSH
3D 32-160/4.06 6206-2RSH
3D 32-200/5.56
3D 32.200/7 26 6306-2RS1 6206-2RS1
3D 40-125/3.06 6205-2RSH
3D 40-125/4.06 6206-2RS1 6205-2RSH
3D 40-160/5.56
3D 401607 56 6306-2RS1 6206-2RS1
3D 40-200/116 6308-2Z 6208-2Z
3D 40-200/156 6309-2Z 6309-2Z
3D 50-125/5.56
3D 5012577 56 6306-2RS1 6206-2RS1
3D 50-160/116 6308-2Z 6208-2Z
3D 50-160/156 6309-ZZ 6309-2Z
3D 65-125/5.56
3D 512577 56 6306-2RS1 6206-2RS1
3D 65-160/9.26
3D 85160/116 6308-2Z 6208-2Z
3D 65-160/156
3D 65-200/156
3D 65-200/18.56 6309-22 6309-22
3D 65-200/226
311

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

CONSTRUCTION 60Hz
Rev. A
3DS-3DP BEARINGS
Ball bearing Ball bearing
Pump type ) ) Pump type Pump Motor
P Fan sid
ump side an sie Pump side Motor side Pump side Fan side

3DS 32-125/2.26 | 6205-2Z C3 | 6205-2Z C3 || 3DP 32-125/2.26 6205-22C3 | 6205-2Z C3
3DS 32-160/3.06 | 6206-2Z C3 | 6206-2Z C3 || 3DP 32-160/3.06 | 6306-2RS1 | 6206-2RS1 | 62062ZC3 | 6206-2ZC3
3DS 32-160/4.06 | 6306-2Z C3 | 6306-2Z C3 || 3DP 32-160/4.06 6306-2ZC3 | 6306-2Z C3
3DS 32200556 | 6p08.27 C3 | 6208-27 C3 | [ S0P 32-200/5.56 6208-22C3 | 6208-2Z C3
3DS 32-200/7.56 3DP 32-200/7.56
3DS 40-125/3.06 | 6206-2Z C3 | 6206-2Z C3 || 3DP 40-125/3.06 6206-22C3 | 6206-2Z C3
ggz ig-légg.gg 6306-2Z C3 | 6306-2Z C3 23:; :8-122;:22 ss06.0ns1 | e206.0msq | 63062ZC3 | 630622 G3

16075. 6208-2Z C3 | 6208-2Z C3 16075. 6208-22C3 | 6208-2Z C3
3DS 40-160/7.56 3DP 40-160/7.56
SDS 40200116 | 5309 57 ¢3 | 6309-27 C3 || 2P 40-200/116 6309-22C3 | 6309-2Z C3
3DS 40-200/156 3DP 40-200/156
SDS 80125556 | 6p08.27 C3 | 6208-27 C3 || S0P 50-125/5.56 6208-22C3 | 6208-2Z C3
3DS 50-125/7.56 3DP 50-125/7.56
SDS S0-160716 1 6309.07 C3 | 6309-27 C3 || SO S0-160/116 6308-2RST | 6306-2RS1 | 6309-2ZC3 | 6309-2Z C3
3DS 50-160/156 3DP 50-160/156
3DS 65-125/5.56 3DP 65-125/5.56
3DS 65-125/7.56 | 6208-2Z C3 | 6208-2Z C3 || 3DP 65-125/7.56 6208-22C3 | 6208-2Z C3
3DS 65-160/9.26 3DP 65-160/9.26
3DS 65-160/116 3DP 65-160/116
SDS 651601156 | 6309.27 G3 | 6309-27 C3 | [ SDP 65-160/156 6308-2RS1 | 6306-2RST | 6309-2ZC3 | 6309-2Z C3
3DS 65-200/156 3DP 65-200/156
3DS 65-200/18.56 3DP 65-200/18.56
3DS 65-200/226 6311C3 | 6311C3_||3DP 65200/226 6311 C3 6311 C3

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

CONSTRUCTION 60Hz
Rev. A
3DS COUPLING
L
- Set screw UNI EN ISO 4029 \
- |
_ o © fll m m
| L1 |
< = weé T F———— 93
Power Motor Dimensions [ mm ]
P
UmptyPe W T THPT| Size | d | a1 | a2 | 43 M L] 1] b h | Setscrew
32-125/2.26 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-160/3.06 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-160/4.06 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/5.56 5.5 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
32-200/7.56 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-125/3.06 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-125/4.06 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-160/5.56 5.5 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-160/7.56 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-200/116 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
40-200/156 15 20 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-125/5.56 5.5 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-125/7.56 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-160/116 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-160/156 15 20 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
65-125/5.56 5.5 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-125/7.56 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/9.26 9.2 12.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/116 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
65-160/156 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/156 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/18.56 18.5 25 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/226 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
313

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 D S E RI ES

CONSTRUCTION 60Hz

Rev. A

3DP FLEXIBLE COUPLING

PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE
Power Motor Dimensions [ mm ]

Pump ype | w1l (HP]| Size | a1 | b1 | ht | d2 | b2 | h2
30.125/2.26 52 | 3 | 90 | 24 | 8 | 273 | 24 | 8 | 273
32-160/3.06 3 4 [ 100 | 24 | 8 | 273 | 28 | 8 | 313
32-160/4.06 4 | 55 | 112 | 24 | 8 | 273 | 28 | 8 | 313
32-200/5.56 55 | 75 | 132 | 24 | 8 | 273 | 38 | 10 | 413
32-200/7.56 75 | 10 | 132 | 24 | 8 | 273 | 38 | 10 | 413
40-125/3.06 3 2 [ 100 | 24 | 8 | 273 | 28 | 8 | 313
40-125/4.06 4 | 55 | 112 | 24 | 8 | 273 | 28 | 8 | 313
40-160/5.56 55 | 75 | 132 | 24 | 8 | 27.3 | 38 | 10 | 413
40-160/7.56 75 | 10 | 132 | 24 | 8 | 27.3 | 38 | 10 | 413
40-200/116 11 | 15 | 160 | 24 | 8 | 273 | 42 | 12 | 453
40-200/156 15 | 20 | 160 | 24 | 8 | 273 | 42 | 12 | 453
50-125/5.56 55 | 75 | 132 | 24 | 8 | 27.3 | 38 | 10 | 413
50-125/7.56 75 | 10 | 132 | 24 | 8 | 27.3 | 38 | 10 | 413
50-160/116 11 | 15 | 160 | 24 | 8 | 273 | 42 | 12 | 453
50-160/156 15 | 20 | 160 | 24 | 8 | 273 | 42 | 12 | 453
65 125/5.56 55 | 75 | 132 | 24 | 8 | 273 | 38 | 10 | 413
65-125/7.56 75 | 10 | 132 | 24 | 8 | 273 | 38 | 10 | 413
65-160/9.26 920 | 125 | 132 | 24 | 8 | 273 | 38 | 10 | 413
65160/116 17 | 15 | 160 | 24 | 8 | 273 | 42 | 12 | 453
65-160/156 15 | 20 | 160 | 24 | 8 | 273 | 42 | 12 | 453
65-200/156 15 | 20 | 160 | 24 | 8 | 273 | 42 | 12 | 453
6520011856 | 185 | 25 | 160 | 24 | 8 | 27.3 | 42 | 12 | 453
65-200/226 22 | 30 | 180 | 24 | 8 | 273 | 48 | 14 | 518

314

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3D SERIES

CONSTRUCTION 60Hz
Rev. A
FITTINGS
COUNTERFLANGES GALVANIZED STEEL
F
E
| — |
- 1 |
=R W 1 —
i YR
I L 1
SN N° Holes 218
Dimensions Screws
DN D E F H H1 L M SN DIMENSION MATERIAL
32 G1va | 100 | 140 15 11.5 67 50 4
40 G111 110 150 17.5 11.5 72 58 4 Gv. Steel 8.8
50 G2 125 | 165 19 15 89 70 4 M16x55 Strenght class
65 G2'% | 145 | 185 23 14 104 88 4 ISOGaG
80 G3 160 200 24 14.5 117.5 100 4
GASKETS
DN M M1
32 38 82
40 50 93
50 60 107
65 80 125
80 90 140
Thickness 2
Material: EPDM for standard version
FPM for hot water version
315

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

DIMENSIONS AND WEIGHT

60Hz

S2

PUMP 3D up to 11 kW

V2

\

/

Rev. A

.
o 5 \ ! 1
iy f
= AR F-—- —
~ S
|
C
><
s
=
(a>]
[ce]
i
-
Dimensions [ mm ] .
Pumptype | 0 | @ | @ | @ o|o|o|o V[Vfg?‘
DN1| P1 | K1 | D1 | S1|DN2| P2 | K2 | D2 |S2| H|HI|H2|H3| R|W|M|NI|N2| T|E|A|AI|A2| B c Vi V2
32-125/2.26 | 50 | 102 | 125 165| 20 | 32 | 78 | 100] 140 | 18 | 252 | 112 | 140 | 124 80 | 70 | 100] 140 | 190] 50 | 10 | 213 | 107 | 107 | 432 | 244255 PG135| 31.0
32-160/3.06 | 50 | 102 | 125 165| 20 | 32 | 78 | 100|140 | 18 | 292 | 132|160 | 124 | 80 | 70 | 100|190 | 240 | 50 | 10 | 254 | 127 | 127 | 471 | 244255 PG135| 376
32-160/4.06 | 50 | 102 | 125|165| 20 | 32 | 78 [ 100|140 | 18 [292]132[ 160|141 ] 80 | 70 [ 100|190 240| 50 | 10 [ 254 127|127 [ 494| 253 - PG16 | 45.9
32-200/5.56 | 50 | 102 | 125 | 165| 20 | 32 | 78 | 100| 140 | 18 | 340 160|180 | 150 | 80 | 70 | 100|190 | 240| 50 | 10 | 296 | 148 | 148 519| 275 | PG13.5| PG16 | 59.9
32-200/7.56 | 50 | 102 | 125|165| 20 | 32 | 78 | 100|140 | 18 [ 340 160|180 150 80 | 70 | 100|190 | 240| 50 | 10 | 296 | 148|148 519| 275 | PG13.5| PG16 | 59.4
40-125/3.06 | 65 | 122 | 145 | 185| 20 | 40 | 88 | 110 | 150 | 18 | 252 | 112|140 | 124 | 80 | 70 | 100|160 | 210] 50 | 10 | 213|108 112 | 471 | 244255 - PG 135 | 32.1
40-125/4.06 | 65 | 122 | 145|185| 20 | 40 | 88 | 110|150 | 18 | 252 | 112|140 | 141| 80 | 70 | 100|160 | 210| 50 | 10 | 213|108 | 112 | 494 | 253 - PG16 | 457
40-160/5.56 | 65 | 122 | 145|185| 20 | 40 | 88 | 110|150 | 18 [ 292|132 160|150 | 80 | 70 [ 100|190 | 240| 50 | 12 | 254 | 127 [127|519| 275 | PG135| PG16 | 543
40-160/7.56 | 65 | 122 | 145|185| 20 | 40 | 88 | 110|150 | 18 | 292 | 132|160 | 150 | 80 | 70 | 100|190 | 240| 50 | 12 | 254 | 127 [ 127 | 519| 275 | PG135| PG16 | 622
40-200/116 | 65 | 122|145 185| 20 | 40 | 88 | 110|150 18 | 340 160|180 178|100 70 | 100|212 | 265] 50 | 12 | 296 | 148 148|595 | 359 | PG13.5 | PG21 | 747
50-125/5.56 | 65 | 122 | 145 | 185] 20 | 50 | 102 | 125 165] 20 | 292 | 132 160 ] 150 | 100] 70 | 100] 190 | 240] 50 | 10 | 254 | 127 127|539 | 275 | PG13.5| PG16 | 56.2
50-125/7.56 | 65 | 122 | 145 | 185| 20 | 50 | 102| 125| 165| 20 | 292 | 132|160 150 | 100| 70 [ 100|190 | 240| 50 | 10 | 254 | 127127 539| 275 | PG135| PG16 | 6238
50-160/116 | 65 | 122|145 185| 20 | 50 | 102| 125|165 20 [ 340 160|180 178 100| 70 [ 100|212 265] 50 | 10 | 296 | 148 148 595| 359 | PG13.5| PG21 | 766
65-125/5.56 | 80 | 138 | 160 | 200 | 22 | 65 | 122 | 145 185] 20 | 340 160 ] 180 ] 150 | 100| 95 | 125] 212|280 65 | 12 | 254 | 127 136|539 | 275 | PG13.5| PG16 | 67.3
65-125/7.56 | 80 | 138|160 | 200 | 22 | 65 | 122 145] 185| 20 [ 340 160|180 150 | 100| 95 [ 125] 212|280 65 | 23 | 254 | 127|136 539| 275 | PG135| PG16 | 683
65-160/9.26 | 80 | 138 | 160 | 200 | 22 | 65 | 122|145 185| 20 | 360 | 160 | 200 | 178|100 | 95 | 125|212 280| 65 | 12 | 296 | 148 | 148|595 | 359 | PG13.5| PG21 | 719
65-160/116 | 80 | 138 160 | 200 | 22 | 65 | 122 145] 185] 20 | 360 160 200 178 100| 95 | 125] 212|280 65 | 12 | 296 | 148|148 595| 359 | PG13.5| PG21 | 81.0

400

E2ARA

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 D S E RI ES

DIMENSIONS AND WEIGHT 60Hz

Rev. A

PUMP 3D 15 kW and above

P2 PG 296
DN2 G Al A2

223

Dimensions [ mm ] Weight

Pump type g | Q|0 |0 9|90 | Q|0 [kgt]
DN1| P1| K1 | D1 |S1|DN2| P2 | K2 | D2 |S2|Fig.| H |HI |H2|W| M N1 N2| T |E| A1 A2 | B C |L1]L2]|L3]| L4

40-200/156 65 [122]145/185/20| 40 | 88 | 110|150/ 18| 2 |340|160|180|70|100|212|265| 50 [12| 148 | 148 |723)|190.5]254|318|64[304| 115.7
50-160/156 65 [122]145/185{20| 50 |102|125|165/20| 2 [340|160|180|70|100(212|265| 50 |10| 148 | 148 |723|190.5|254|318|64|304| 93.1
65-160/156 80 [138]160/200| 22| 65 |122|145/185|/20| 2 |360|160|200|95|125|212/280| 65 12| 148 | 148 |732)|199.5|254|318|64|304| 119.0
65-200/156 80 [138]160/200| 22| 65 |122|145/185|/20| 1 |405|180|225]|95|125|250/320| 65 [12| 154.5| 157.5|732| - |254|314|60|345| 1225
65-200/18.56 | 80 |138|160|200|22| 65 |122|145|185/20| 1 |405|180/225|95/125|250|320| 65 |12| 154.5| 157.5|732| - |254|314|60|345| 136.5
65-200/226 80 [138]160/200| 22| 65 |122|145/185/20| 1 |405]/180|225|95]125]/250/320| 65 [12| 154.5| 157.5|732| - |254|314|60[345| 144.5

401

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 D S E RI ES

DIMENSIONS AND WEIGHT 60Hz

Rev. A

PUMP 3DS 32-125/2.26

477
9 140
6 75 6 213
932 M25x1.5 M20x1.5 4 - 918
: |
‘ [ / 1
€
:H X ?
23 ——— = X
o =2
] o~
H | =
[t ]
+
| 4915 | |||
|1 140
80 186 | 2 - 910 190 !

1
140
168

Pump weight: 40.3 kgf

402

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3D SERIES

DIMENSIONS AND WEIGHT

60Hz

Rev. A
PUMP 3DS 32, 65
B
D2
P2 A
V1 V2
N DN?
[92]
‘ 1"y rs
| - [[oor
1 - % — L ! ) o~
4‘ 3—# 73 ] i —
_ 000000000 S
%nnnunnnn
= - = unoauouiD (S — -
e 00900000 — o
Fig. 2 | oD JE——
L 000000000 - —
! - -
bis:] e, : :
i ! — | L ‘
el s Fig. 1] /| & e ]
15 w ‘ R ‘ c ‘ F
M W
[ ] !
M BI ’ {'ﬁi’i N2
\ G \ R
i i — —
1 H
1 1]
LJ d -
. ~N
1,£ Fig. 3 f
= TTT T
|3 i =
‘ 329 241 ‘ 24.5
15 70
100
| 0 -1
4-p14
| 300 ol @
‘ | NEES
1] I
I I
Dimensions [ mm ] .
Pumptype | @ | @ | @ | @ oglo|o|o V["ff'g?t
DN1| P1 | K1 | D1 |S1|DN2| P2 | K2 | D2 |S2|Fig.| H | H1 | H2 | H3 |H4| R [W| M | N1 | N2 T A B C|I|F| G|QfLl]L2]|L3 V1 V2 9
32-160/3.06 50 |102|125|165|20| 32 | 78 |100[140| 18| 1 |292|132|160|155|32| 80 |70/ 100|190| 240 | 50 |254|528|388|15|220|12]| 160|200 | 40 |M25X1.5|M20X1.5| 49.8
32-160/4.06 50 |102|125]165|/20| 32 | 78 [100/140| 18| 1 |[292]132|160|171|20| 80 |70|100[190| 240 | 50 |254|550|395|15|220|12|190|240|50|M25X1.5|M20X1.5| 51.4
32-200/5.56 50 |102|125]165|20| 32 | 78 |[100/140| 18| 1 |[340|160|180|198|28| 80 |70|100[190| 240 | 50 |300|607|479|15|270|12|216|266 | 50 |M32X1.5|M32X1.5| 83.2
32-200/7.56 50 |102[125]165/20| 32 | 78 [100/140| 18| 1 [340|160(180/198|28| 80 |70|100[190| 240 | 50 |300|607[479|15|270|12|216|266 |50 |M32X1.5|M32X1.5| 96.4
65-125/5.56 80 |138[160|200| 22| 65 |122|145/185|20| 2 [340|160|180|198|28|100|95|125[212| 280 | 65 |300|627[479|15|270|12| 216|266 | 50 | M32X1.5|M32X1.5| 75.3
65-125/7.56 80 |138[160]200| 22| 65 |122|145/185|20| 2 [340|160|180|198|28|100|95|125[/212| 280 | 65 |300|627|479|15|270| 12| 216|266 | 50 |M32X1.5|M32X1.5| 92.7
65-160/9.26 80 |138[160|200| 22| 65 |122]145|/185|/20| 2 [360|160|200|198|28|100|95|125]/212| 280 | 65 |300|667|479|15[270|12| 216|266 |50 |M32X1.5|M32X1.5( 103.0
65-200/156 80 |138[160|200| 22| 65 |122]145|185|20| 2 |405|180|225|238|20|100|95|125]250| 320 | 65 |350|806|621|20|350|14|254|314|60 |M40X1.5|M40X1.5| 137.6
65-200/18.56 | 80 [138]|160|200| 22| 65 |122]145|/185|20| 2 |405|180|225|238|20|100|95]|125|250| 320 | 65 |350|850|621|20|350|14|254|314 |60 |M40X1.5|M40X1.5( 147.2
65-200/226 80 1138160200 22| 65 [122]145/185/20| 3 |405|180|225(/268| - [100| - - |250| 320 | 65 [360(885| - - - - - - - |M32X1.5|M32X1.5| 184.5

403

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 D S E RI ES

DIMENSIONS AND WEIGHT 60Hz

Rev. A
PUMP 3DS 40, 50, 65
B
V2
A
’ i
P
St -
- o™~
x
sl 5| 2 T
T
Lo
—+ ——
- ) Il O —— 110 ¢
R 4-919 N3
W N1
25 E 25 N2
F
Dimensions [ mm ] .
Pumptype | @ | @ | @ | @ o |o| Q| @ VEIEIggfh]t

DN1| P1 | K1 | D1 |S1|DN2| P2 | K2 | D2 [S2]| H | H1 |H2 | H3| R W N1 N2|N3| A | B V1 V2

m
.

40-125/3.06 | 65 |122]145|185|/20| 40 | 88 110|150 |18|294| 112|140 155| 80 | 90 |180|240)|60 250 528|500 | 563 | M25x1.5 | M20x1.5| 43.6

40-125/4.06 | 65 | 122|145/185/20| 40 | 88 | 110/150|18|294| 112|140 171| 80 | 90 |180|240|60 250 550|500 585 | M25x1.5| M20x1.5| 53.7

40-160/5.56 | 65 | 122|145/185/20| 40 | 88 | 110/150|18|334|132| 160|198 | 80 | 110 | 210|270 60| 300 | 607|600 662 | M32x1.5| M32x1.5| 83.2

40-160/7.56 | 65 |122|145/185/20| 40 | 88 | 110|150 |18|334|132| 160|198 | 80 | 110 | 210|270 60| 300 | 607|600 662 | M32x1.5| M32x1.5| 91.0

40-200/116 65 |122]145]185/20| 40 | 88 |110|150|18|382|160| 180|238 100| 110 |240|310|70|350|796| 720|831 | M40x1.5| M40x1.5| 119.7

40-200/156 65 |122]145]185]/20| 40 | 88 | 110|150 18382 160 | 180|238 | 100 110 |240]310|70|350| 796|720 | 831 | M40x1.5| M40x1.5( 143.7

50-125/5.56 | 65 |122|145|185|20| 50 |102]|125|165|20|334|132| 160198100 110 | 210|270 |60 300 627|600| 662 M32x1.5| M32x1.5| 75.1

50-125/7.56 | 65 | 122|145]|185|20| 50 | 102]|125]|165|20|334|132|160| 198|100 110 |210|270|60| 300|627 | 600|662 | M32x1.5 | M32x1.5| 100.3

50-160/116 65 [122]145]185]20| 50 |102|125|165|20|382| 160 180|238 100| 110 |240|310|70|350| 796|720 | 831 | M40x1.5| M40x1.5| 88.6

50-160/156 65 |122]145]185]20| 50 |102]125|165|20|382| 160 | 180|238 100| 110 |240|310|70|350| 796|720 | 831 | M40x1.5| M40x1.5 116.6

65-160/116 80 |138/160|200|22| 65 |122|145|185|20|402| 160|200 | 238|100 | 122.5/240|310|70|350| 796 | 720 | 844 | M40x1.5 | M40x1.5| 89.6

65-160/156 80 | 138/160]200|22| 65 |122|145|185]20]402] 160200 | 238|100 | 122.5| 240|310 70| 350|806 | 720 | 854 | M40x1.5 | M40x1.5| 117.6

404

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3D SERIES

DIMENSIONS AND WEIGHT 60Hz
Rev. A
PUMP 3DP
H
CH IH 0S8
R0
ST T
2 o
i
] -
405

EBARA PUMPS EUROPE S.p.A.



3D SERIES

CENTRIFUGAL PUMPS

60Hz

DIMENSIONS AND WEIGHT

Rev. A

({o]
o
<
G'861 | GLXZEN | G LXZEN |0G 10001 09€|0S|0LY|008|001(£89|0S1 962|001+ 89¢2|S2¢2|08)|GSY| 02|88 k|G| 22| G9 |22|002(091(8EL| 08 | 922/002-99
'Syl [ GIXOVIN | G LXOPIN |SHEE000L|0EE|02Y|08E|008|001(2S9|S k1 962|001+ 8E2|G22| 08| SSY| 02|68} S k|22t| G9 |22 002|091} 8EL| 08 PS 81/002-G9
9'9€t | G IXOVIN | ST EXOVIN | 120|000} 0€E|02|08E|008|001809| L0} 962|00}|8€2|S22| 08} GSY| 02|S8 k| Sk 2ct| S9 |22|002(091(8EL| 08 [ 951/002-S9
1’821 | S IXO¥IN | S EXO¥IN | 120000} 0EE| 0217/ 08E 008|001+ 809|L01962(001|8€2|002|09+|0L¥| 02|G8L|SY |22t S9 |22 |002|09} 8CL| 08 | 951/091-G9
0°0Ck | G LXOVIN | G LXOVIN | 120|000 0€E|02|08E|008|001{809| 120k 962|001+ 8€2|002|09} 0Lt 02|S8 k| S 22k G9 |22|002(091(8EL| 08 [ 9LI/091-99
0°€Ct | GLXCEN | G LXZEN | G¥6 | 098 |00E|06E(0S€|099|001 (28| G¥6 962|001+ 861+ 002|09} 0L 02|S8 k| SV 22| G9 | 22|002(091(8EL| 08 | 92°6/09+-99
22 | STIXCEN | G IXZEIN | S06 | 0S8 |00E€|06€|05E|0S9|00+|2h1| S06 |#52|004| 864 081|091k 06€E| 02 (S8t |SYH2eL| G9 |22 |002|09L|8EL| 08 | 95°£/521-G9
EPLL [ G IXCEIN | G LXZEIN | S06 | 0S8 |00E|06€|0SE|059|001L (2P| S06 |#52|00+| 861081 09k 06€| 02 |G8} S k|22t| G9 |22 | 002|091} 8EL| 08 | 95°G/521-G9
L'LEL [ S EXOVIN | S EXOPIN | 120000} 0E€E| 0217/ 08E|008|00+|809|HL01962(001|8€2| 08+ 09}|06€| 02|G9L|S2t|20L| 0S |02 |G8}|GP 22| 99 | 951/091-0S
L'0EL | G EXOVIN | S EXOPIN | 120|000k 0EE| 021/ 08E|008|001+|809|LL0L|962(001|8E€2|081091|06€| 02|G9L|SCt|20L| 0G |02 |G8t|GY L 22| S9 | 9LL/091-0S
CLLL | STIXCEN | G LXZEN | S06 | 098 |00E€|06E(0S€|099|001L|2ty| G06 |¥G2|00k 86409k 2EL|2PE|02|S9L|SC k|20t 0S |02 |G8L|SYL|ect| 99 | 9G°L/S2H-0G
€O0LL | GLXCEN | G LXZEN | S06 | 098 |00E€|06E(0S€|099|001L|2ty| G06 |¥G2|00k 864+ 09)|2EL|2PE|02|S9L|S2 k|20t 0S |02 |S8L|SYL|ect| 99 | 9G°G/92+-0G
L°0EL [ STIXOVIN | G EX0IN | L£0L 000+ 0EE|02Y|08€|008/00+809| 20+ 962|00+|8€2|081|09k|06€| 8L |0SL|OLE| 88 | OF |02 |S8k|SYL|ceh| S99 | 95+/002-0F
L'62}L | G IXOPIN | G IXOPIN | FL0L{000L| 0E€E| 02| 08€| 008|001+ 809| L0} |962|001}|8€2|081L|091|06€| 81|05 0L 88| O |02|S8k SPEH 22t G9 | 911H/002-0F
6'GLE | GIX2EIN | G LX2EN | S06 | 058 |00€|06€|0S€|099 001 2ty| G88 |¥S2| 08 |86+ 09}|2EL|2hE|8L|0GHOLE 88| OF |02|S8L|SYL|2Ck| 99 | 9G°L/09}-0F
0°60F | GLXCEN | G LXZEN | S06 | 098 |00E|06E|0S€|099 /001 | 2P| G88 |¥SG2| 08 |86+ 09}|2EL|2PE|8L|0GH|OLE 88| OF |02|S8L|SYL|22t| 99 | 9G°G/09+-0F
L'SL. |G IX02IN | G EXGCIN | LE8 | 0GZ |0G2|0¥E|00E|06S| 08 |88E| LEB [EL2| 08 [LLL|OVE|{2LL|20E|8)L|0SH|IOLL 88| OV |02|S98k|SY k| 2eh| G9 | 90°'1/GCL-0F
1’68 | G LX02CIN | G IXG2IN | 608 | 0GZ |0S2|01€|00E|06S| 08 |99€| 608 |€te| 08 |SSL|OY L 2LL|20E 8L |0SHOLL| 88| OF |02|S8L|GP k| 2k S9 | 90°E/SeL-0F
9'ICL | GIXCEIN | G LXZEIN | S06 | 098 |00€|06€(0S€|099|001|2ty| G88 |962| 08 |86} 08} 09} 06E| 8|0V 00k 8L | 2€ |02|S9L|SCk|20}k| 0G | 95°2/002-2¢
7'80) | G IXCEIN | G IXCEIN | S06 | 0G8 |00€|06€|05€|0G9|00 k|2t G88 |96¢| 08 |861|081|091|06€|8L|0FL 00} 8L | 2€ |02|994|SCk|20k| 0S | 99°G/002-2€
G'G8 | G IX02IN | G IXG2IN | LE8 | 0GZ |00E|06€|0SE|06S| 08 |88€| LE8 |¥Sc| 08 |LLL|09L|2EL|2vE|8L|0Y L |00} 8L | 2€ |02|S9k|S2Ck|20k| 0S | 90°+/09t-2€
6'k8 | G IX02IN | G IXG2IN | 608 | 0GZ |00€|06€|05E|06S| 08 |99€| 608 |S2| 08 |GSH|09L|2EL|2yE|8L|0YL|00) 8L | 2€ |02|G9k|S2Ck|20k| 0S | 90°€/09t-2€
P19 | SEX02N | S EXSZIN | 092 | 0+ |0G2|0¥E|00€|0SG| 08 |L1E| 092 |E€L2| 08 |87 OV L|2LL 20€E| 8|0 |00} 8L | 2E |02|G9}|SCk|20L| 0S | 92 e/Get-cE
5 ZA LA 1 L |ENISN|IN| 3 | a|fed| g |V | Hd|EH|SH|IH| H |2S|2A|2X|2d|2NQ|IS|A| M| Id|INA
Hrw_w\,w 00 02| 02 02| pon
[ ww ] suoisuawiq

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 D S E RI ES

DIMENSIONS AND WEIGHT 60Hz
Rev. A
PACKING 3D
Pump type Packing [mm ] | Weight | Pack TYPE W
X v | 7 [ kgf] | type
32-125/2.26 280 | 340 | 490 | 33 1 _
32-160/3.06 350 | 488 | 580 | 41.7
32-160/4.06 350 | 488 | 580 | 51.7
32-200/5.56 350 | 488 | 580 | 66
32-200/7.56 350 | 488 | 580 | 65.9 .
40-125/3.06 350 | 488 | 580 | 37.5
40-125/4.06 350 | 488 | 580 | 51.3
40-160/5.56 350 | 488 | 580 | 64.6 N\
40-160/7.56 350 | 488 | 580 | 67.4 o 4
40-200/116 350 | 508 | 700 | 82.4
40-200/156 390 | 542 [ 880 | 122.7 Z
50-125/5.56 350 | 488 | 580 | 61 »
50-125/7.56 350 | 488 | 580 | 67.6
50-160/116 350 | 508 | 700 | 80.6 TYPE 2
50-160/156 390 | 542 | 880 | 99.1
65-125/5.56 350 | 488 | 580 | 72.3 L /
65-125/7.56 350 | 508 | 700 | 74.2
65-160/9.26 350 | 508 | 700 | 78.3
65-160/116 350 | 508 | 700 | 83
65-160/156 390 | 542 | 880 | 127
65-200/156 390 | 542 | 880 | 130.5 .
65-200/18.56 390 | 542 | 880 | 146.5
65-200/226 390 | 542 | 880 | 153.5
N
il i <4
| z |

407

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 D S E RI ES

DIMENSIONS AND WEIGHT 60Hz

Rev. A

PACKING 3DS

Packing [mm ] | Weight

X % 7 [kof ]
32-125/2.26 350 [488|580| 42.3
32-160/3.06 350 [488| 580| 55.1
32-160/4.06 350 [488|580| 56.7
32-200/5.56 350 [508| 700| 88.4
32-200/7.56 350 |508| 700| 101.6
40-125/3.06 350 [488|580| 48.9
40-125/4.06 350 | 488 580 59
40-160/5.56 350 |508| 700| 88.4
40-160/7.56 350 [508| 700| 96.2
40-200/116 360 |542| 880| 127.8
40-200/156 360 |542|880| 151.8 >
50-125/5.56 350 [508| 700| 83.2
50-125/7.56 350 [508| 700| 108.4
50-160/116 360 |542| 880 | 96.7 \
50-160/156 360 542|880 | 124.7 77J t A
65-125/5.56 350 [508| 700| 80.5 ‘ 7 ‘
65-125/7.56 350 [508| 700| 97.9 ! !
65-160/9.26 350 |508| 700| 108.2
65-160/116 360 |542|880| 97.7
65-160/156 390 [598| 970| 125.6
65-200/156 390 598|970 | 145.6
65-200/18.56 | 390 |598| 970| 157.7
65-200/226 390 1598|970] 193.5

Pump type

408

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

DIMENSIONS AND WEIGHT 60Hz
Rev. A
PACKING 3DP
PUMp type Packing [ mm] | Weight
x| v | z | [kaf]
32-1252.26 394 75.0
32-160/3.06 434 9%.5
32-160/4.06 9.0
32-200/5.56 482 122.0
32-200/7.56 135.0
40-125/3.06 394 102.5
40-125/4.06 8.2
40-160/5.56 434 125
40-160/7.56 1295
40-200/116 482 143.2
40-200/156 144.2
50-125/5.56 800 434 1200) 123.8
50-125/7.56 130.7
50-160/116 1435
50-160/156 482 1445
65-125/5.56 1278
65-125/7.56 136.2
65-160/9.26 146.5
65-160/116 502 1435
65-160/156 142.0
65-200/156 150.0
65-200/18.56 547 1587
65-200/226 212.0

409

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

TECHNICAL DATA

60Hz

MOTOR DATA 3D

Rev. A

Power Efficiency (% load) Efficiency (% load) | Input Full load current Locked rotor current
Pump type Three phase (380 V) | Three phase (460 V) | [kW ] [A] [A]
(kW] | [HP] Hy, Hy Three Phase Three Phase

50% | 75% | 100% | 50% | 75% | 100% 220V | 380V | 460V | 660V | 220V | 380V | 460V | 660 V
3D 32-125/2.26 22 | 30 [ 805 | 83| 85| 773 | 84 | 841 | 29 | 7.0 | 41 | 41 - | 615 | 355 | 430 | -
3D 32-160/3.06 30 | 40 | 840 | 8.9 | 852 | 8.2 | 835 | 846 | 39 | 105 | 61 | 56 - | 921 | 532 | 570 | -
3D 32-160/4.06 40 | 55 | 83.2 | 858 | 8.1 | 81.0 | 851 | 867 | 51 | 147 | 85 | 80 - | 1088 | 628 | 760 | -
3D 32-200/5.56 55 | 75 | 834 | 853 | 85.7 | 829 | 86.0 | 874 | 7.0 - 116 | 95 | 67 - | 909 | 110.0 | 635
3D 32-200/7.56 75 | 10.0 | 83.1 | 85.4 | 858 | 826 | 86.1 | 875 | 9.4 - 149 | 127 | 86 - | 1214 | 147.0 | 849
3D 40-125/3.06 30 | 40 | 840 | 8.9 | 852 | 8.2 | 835 | 846 | 39 | 105 | 61 | 56 - | 921 | 532 | 57.0 | -
3D 40-125/4.06 40 | 55 | 83.2 | 858 | 8.1 | 81.0 | 851 | 867 | 51 | 147 | 85 | 80 - | 1088 | 628 | 760 | -
3D 40-160/5.56 55 | 75 | 834 | 853 | 857 | 829 | 86.0 | 874 | 7.0 - 116 | 95 | 67 - | 909 | 110.0 | 635
3D 40-160/7.56 75 | 10.0 | 83.1 | 85.4 | 858 | 826 | 86.1 | 875 | 9.4 - 149 | 127 | 86 - | 1214 | 147.0 | 849
3D 40-200/116 11.0 | 15.0 | 87.3 | 838 | 886 | 859 | 887 | 896 | 113 | - 177 | 154 | 103 | - | 1256 152.0 | 878
3D 40-200/156 15.0 | 20.0 | 90.9 | 915 | 91.0 | 89.4 | 913 | 918 | 179 | - | 287 | 250 | 166 | - | 198.3|240.0 | 138.6
3D 50-125/5.56 55 | 75 | 834 | 853 | 85.7 | 829 | 86.0 | 874 | 7.0 - 116 | 95 | 67 - | 909 | 110.0 | 635
3D 50-125/7.56 75 | 10.0 | 831 | 85.4 | 858 | 826 | 86.1 | 875 | 9.4 - 149 | 127 | 86 - | 1214 | 1470 | 849
3D 50-160/116 11.0 | 15.0 | 87.3 | 838 | 886 | 859 | 887 | 896 | 113 | - 177 | 154 | 103 | - | 1256 152.0 | 878
3D 50-160/156 15.0 | 20.0 [ 90.9 | 915 | 91.0 | 89.4 | 913 | 918 | 179 | - | 287 | 250 | 166 | - | 198.3|240.0 | 138.6
3D 65-125/5.56 55 | 75 | 834 | 853 | 85.7 | 829 | 86.0 | 874 | 7.0 - 116 | 95 | 67 - | 909 | 110.0 | 635
3D 65-125/7.56 75 | 10.0 | 831 | 854 | 858 | 826 | 86.1 | 875 | 9.4 - 149 | 127 | 86 - | 1214 | 1470 | 849
3D 65-160/9.26 92 | 130 | 873 | 888 | 88.6 | 859 | 887 | 896 | 113 | - 177 | 154 | 103 | - | 1256 | 152.0| 87.8
3D 65-160/116 11.0 | 15.0 [ 91.9 | 91.8 | 91.2 | 90.9 | 920 | 919 | 132 | - 183 | 183 | 105 | - | 132.2|160.0 | 924
3D 65-160/156 15.0 | 20.0 [ 90.9 | 915 | 91.0 | 89.4 | 913 | 918 | 179 | - | 287 | 250 | 166 | - | 198.3|240.0 | 138.6
3D 65-200/156 15.0 | 20.0 [ 90.9 | 9156 | 91.0 | 89.4 | 913 | 918 | 179 | - | 287 | 250 | 166 | - | 198.3|240.0 | 138.6
3D 65-200/18.56 185 | 25.0 | 91.7 | 92.8 | 925 | 90.3 | 921 | 929 | 219 | - | 348 | 31.0 | 201 - | 271.0| 328.0 | 189.4
3D 65-200/226 220 | 30.0 | 89.7 | 91.2 | 91.3 | 88.4 | 910 | 917 | 264 | - | 417 | 364 | 240 | - | 316.4 | 383.0 | 221.1

500

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3D SERIES

TECHNICAL DATA

60Hz

MOTOR DATA 3DS-3DP

Rev. A

Pump type Power Efficiency (% load) Full load current | Locked rotor current
Input and power-factor [A] [A]
[kW] n% Three Phase Three Phase
3DS 3DP [KW] | [HP] cos—¢

50% 75% 100% 265V 460 V 265V 460 V
3DS 32-125/2.26 | 3DP 32-125/2.26 2.2 2.65 79.6 83.2 84.3 0.81 741 41 56.8 32.8
3DS 32-160/3.06 | 3DP 32-160/3.06 3.56 80.7 84.4 85.5 0.86 9.0 5.2 86.4 49.9
3DS 32-160/4.06 | 3DP 32-160/4.06 5.5 4.70 81.3 84.2 85.0 0.83 12.3 74 125.4 72.4
3DS 32-200/5.56 | 3DP 32-200/5.56 5.5 7.5 6.22 83.5 86.6 87.8 0.84 - 9.3 - 84.6
3DS 32-200/7.56 | 3DP 32-200/7.56 7.5 10 8.36 86.3 88.7 89.3 0.86 - 12.2 - 111.0
3DS 40-125/3.06 | 3DP 40-125/3.06 4 3.56 80.7 84.4 85.5 0.86 9.0 5.2 86.4 49.9
3DS 40-125/4.06 | 3DP 40-125/4.06 55 4.70 81.3 84.2 85.0 0.83 12.3 71 125.4 72.4
3DS 40-160/5.56 | 3DP 40-160/5.56 5.5 7.5 6.22 83.5 86.6 87.8 0.84 - 9.3 - 84.6
3DS 40-160/7.56 | 3DP 40-160/7.56 7.5 10 8.36 86.3 88.7 89.3 0.86 - 12.2 - 111.0
3DS 40-200/116 | 3DP 40-200/116 11 15 12.15 85.2 88.0 90.0 0.82 - 18.6 - 165.5
3DS 40-200/156 | 3DP 40-200/156 15 20 16.71 88.2 90.1 90.2 0.90 - 23.3 - 223.7
3DS 50-125/5.56 | 3DP 50-125/5.56 5.5 7.5 6.22 83.5 86.6 87.8 0.84 - 9.3 - 84.6
3DS 50-125/7.56 | 3DP 50-125/7.56 7.5 10 8.36 86.3 88.7 89.3 0.86 - 12.2 - 111.0
3DS 50-160/116 | 3DP 50-160/116 11 15 12.15 85.2 88.0 90.0 0.82 - 18.6 - 165.5
3DS 50-160/156 | 3DP 50-160/156 15 20 16.71 88.2 90.1 90.2 0.90 - 23.3 - 223.7
3DS 65-125/5.56 | 3DP 65-125/5.56 5.5 7.5 6.22 83.5 86.6 87.8 0.84 - 9.3 - 84.6
3DS 65-125/7.56 | 3DP 65-125/7.56 7.5 10 8.36 86.3 88.7 89.3 0.86 - 12.2 - 111.0
3DS 65-160/9.26 | 3DP 65-160/9.26 9.2 12.5 10.40 86.5 88.9 89.5 0.90 - 14.5 - 137.7
3DS 65-160/116 | 3DP 65-160/116 11 15 12.15 85.2 88.0 90.0 0.82 - 18.6 - 165.5
3DS 65-160/156 | 3DP 65-160/156 15 20 16.71 88.2 90.1 90.2 0.90 - 23.3 - 223.7
3DS 65-200/156 | 3DP 65-200/156 15 20 16.71 88.2 90.1 90.2 0.90 - 23.3 - 223.7
3DS 65-200/18.56 | 3DP 65-200/18.56 18.5 25 20.32 88.7 90.8 90.9 0.82 - 31.1 - 276.8
3DS 65-200/226 | 3DP 65-200/226 22 30 2411 - - 91.3 0.89 34.0 - 290.0

501

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3D SERIES

TECHNICAL DATA 60Hz
Rev. A
3D NOISE DATA
Pump type Poter Loa- AB(A) *
[kW] | [HP]
3D 32-125/2.26 2.2 3.0 68
3D 32-160/3.06 3.0 4.0 75
3D 32-160/4.06 4.0 5.5
3D 32-200/5.56 5.5 7.5 28
3D 32-200/7.56 7.5 10
3D 40-125/3.06 3.0 4.0 75
3D 40-125/4.06 4.0 5.5
3D 40-160/5.56 5.5 7.5 -8
3D 40-160/7.56 7.5 10
3D 40-200/116 11 15 82
3D 40-200/156 15 20
3D 50-125/5.56 5.5 7.5 -8
3D 50-125/7.56 7.5 10
3D 50-160/116 11 15 82
3D 50-160/156 15 20
3D 65-125/5.56 5.5 7.5 -8
3D 65-125/7.56 7.5 10
3D 65-160/9.26 9.2 12.5 82
3D 65-160/116 11 15
3D 65-160/156 15 20
3D 65-200/156 15 20 86
3D 65-200/18.56 | 18.5 25
3D 65-200/226 22 30
*Mean value of several measures at
1m distance around the pump.
Tolerance +2.5dB.
502

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 D S E RI ES

TECHNICAL DATA 60Hz

Rev. A

3DS - 3DP NOISE DATA

Pump type Power Loa- dB(A) *

3DS 3DP [KW] | [HP]
3DS 32-125/2.26 3DP 32-125/2.26 2.2 3 70
3DS 32-160/3.06 3DP 32-160/3.06 3 4 74
3DS 32-160/4.06 3DP 32-160/4.06 4 55 78
3DS 32-200/5.56 3DP 32-200/5.56 55 7.5 8o
3DS 32-200/7.56 3DP 32-200/7.56 7.5 10
3DS 40-125/3.06 3DP 40-125/3.06 3 4 74
3DS 40-125/4.06 3DP 40-125/4.06 4 55 78
3DS 40-160/5.56 3DP 40-160/5.56 5.5 7.5 8o
3DS 40-160/7.56 3DP 40-160/7.56 7.5 10
3DS 40-200/116 3DP 40-200/116 11 15 84
3DS 40-200/156 3DP 40-200/156 15 20
3DS 50-125/5.56 3DP 50-125/5.56 5.5 7.5 8o
3DS 50-125/7.56 3DP 50-125/7.56 7.5 10
3DS 50-160/116 3DP 50-160/116 11 15 84
3DS 50-160/156 3DP 50-160/156 15 20
3DS 65-125/5.56 3DP 65-125/5.56 5.5 7.5
3DS 65-125/7.56 3DP 65-125/7.56 7.5 10 82
3DS 65-160/9.26 3DP 65-160/9.26 9.2 12.5
3DS 65-160/116 3DP 65-160/116 11 15
3DS 65-160/156 3DP 65-160/156 15 20 84
3DS 65-200/156 3DP 65-200/156 15 20
3DS 65-200/18.56 | 3DP 65-200/18.56 18.5 25
3DS 65-200/226 3DP 65-200/226 22 30 85

*Mean value of several measures at 1m distance around the pump.
Tolerance + 2.5 dB.

503

% E2ARA EBARA PUMPS EUROPE S.p.A.




	3D SERIES
	Contents
	Specification
	Selection chart
	Type key and curve specifications
	Performance curve specifications
	Performance curve 32-125

	Performance curve 32-160

	Performance curve 32-200 
	Performance curve 40-125
	Performance curve 40-160

	Performance curve 40-200

	Performance curve 50-125 
	Performance curve 50-160

	Performance curve 65-125

	Performance curve 65-160

	Performance curve 65-200


	Construction
	Sectional view drawing 3D
	Sectional view table 3D
	Sectional view table 3DS 32, 40, 50
	Sectional view drawing 3DS 65
	Sectional view table 3LM 80-160 
	Sectional view drawing 3DP
	Sectional view table 3DP
	Mechanical seal (standard, H and E version)

	Mechanical seal (HS version ø22) 
	Mechanical seal (HS version ø30)
	Mechanical seal (HW and HSW version)
	Bearings 3D
	Bearings 3DS-3DP 
	Coupling 3DS 
	Flexible coupling 3DP 
	Fittings


	Dimension and weight
	Pump  3D up to 11 kW
	Pump  3D 15 kW and above
	Pump 3DS 32-125/2.26
	Pump  3DS 32 and 65
	Pump  3DS 40, 50 and 65
	Pump  3DP drawing
	Pump  3DP table
	Packing 3D
	Packing 3DS 
	Packing 3DP 

	Technical data
	Motor data 3D
	Motor data 3DS- 3DP
	Noise data 3D
	Noise  data 3DS-3DP



